[20244 018 2

ofl
no
ofl
ol

ol

o~~~ =~ |~ | R 3u |~~~ | &
HU | LHO | LHO | LHO | LHO | LHO | LHO | WHO | LH | gy | LHO | WHO | LHO | LH -
o B0 |~ | R0 | /0| B0 | H | HO T | O R0 | RO | A o » w“_
S|P E|®| T R MPT ET| SIS H NS o | I
m Tl x| x| x| x| x| x|« |RKID|x]| x|« |&R W
S O a0 |Ki|s0|oF |5 |3 | |22 |® M| 2
30 s, s s
{0
pdl
o4
L lololv|lolvlvlv ololv]| o|lo|w|w = |
NI ¥ Qo c | T T v oo o |
T 0| 0|0 [ DD DD ||| S S|S A_VAI =
S|o|o|o|lo|o|d|d| Bl ~|—=|+F o
1 I R A S S (S Bl - Y S (S I IS IS I I Dﬂ
Kl | L0 Ero Ero O | LHO | LHO | LHO | LH | KU | LHO | LHO | LHO | LHO | LHO | LHO | LHO | LH =
o [0 |o)| o)| RO | RO | RO | K Tl T B0 | B0 | MO | HO | HO | HO | HO Il .
. = =5\ S 2 s il B vl Bl Bl B Eed s}
Sl S T B o oo S| s DIW(0E T = S 0
- R x| x| x| x| x| x| x| R|IB|*x|x|x]|x|x|x]| x| -
— — | —= — o
S Sl | |ok|a|d|zr |22 |m|m|s ||| @ [0l R0
80 [un) [N [uN) S0
{0
J
o1
. |ololojlw|lolo|lv olw| | ovw|lolo|lo|w|ololo|x|
N DY I Q- |¥YN XTIV g|l=
T/ 0| 0| 0| 0|0 | 0|0 D0 DD D DD D] DO q: =
S|lo|o|oc|loc|loc|o|o|o|o|lo|lo|o|d| o3| o8 N

¥ WS ALE0 Tt s 2 = USLICH

A & EXX=E dE AFE 2

% 2



[20243 018 25 =AA|I2HE]
n Y ERU~-32Y
S E5H(2785) S EH(2798)
A2t XpA Al 2 PN
16:00 CIOIAIHAIE =& 16:30 CIOIAINHAE =&
16:05 B« S(FAES) 16:40 ol » S(FHS)
16:15 ¥« X(FHAES) 16:45 s+ H(RES)
16:20 CIOI A MHE == 16:55 X x A(3IIs)
16:50 CIOIAHOAEH & 17:00 A x H(FES)
17:05 & x AM(RES) 17:00 ¥+ A(RES)
17:10 ol » 2(38s) 17:05 L x IHIES)
17:15 S x =(EsS) 17:30 M ox dl(EsSE)
17:20 2 x S(EsS) 17:40 CIOIAIHAE ==
17:25 g« =(E=sS)
17:30 2 x M(EsS)
17:40 2 x IHE=sS)
17:50 CIOIAHAE &=
S AR FEYY SEX FEYN
202 MNII=SR2LEA 2 &0t 240l 3d=, =2
[20243 012 02t SS9 AIZ2HE]
n P2 Erad~-24
Or2t= 2 (2798)
A2 PPN
19:50 CIOIAIHAIE SEt
19:55 2l x MW(EHAHS)
20:00 o x =(3aE)
20:05 2 S(ES)
20:10 Bt x» 2(FAS)
20:15 B x =(FAHS)
20:20 2 o« A(FEE)
20:30 & x H(HOts)
20:35 gt x (M =sS)
20:45 CIOIAHAE =&
S X} FESN
215 0} 2270t 262, 24
¥ NS AFE0 M2 HMs 2 4 USLICH
% EY = . 0F2F O|20{24 QK0 M2t 8BS 2 4 USLIC
¥ X L BEXE ME AR Q6 BE 2 4 UsLt
_ O MO MO
- MENZHA




